2.5

f(g(x)):nu(x2 +1) = f(X) =npx ko g(x)=x"+1
f(g(x)):cuv(3x—7)jf(x)zcmvx kot g(x)=3x—7

f(9(x)) =nu(2x—1) = f(x) =nux ko g(x)=2x-1

f(9(x))=e0(x* +x+1)=f(x) =egx kor g(X) =x"+x+1
f(g(x)) NuEx° —x) = f(x) =npx kor g(x)=3x"—x

f(9(x)) = ovv(nux) = f(x) =cvvx ko1 g(X) =npux

f(g(x))=1n(e* +1) =f (x) =Inx ko g(x) =e* +1
f(g(X))zm:f( )= N g(x) =cvvx

f(g9(x))= \/m:f( )=+/x ko g(x)=x"+3
f(g(X))=\/W:>f(X)=\/; kot g(X)=Inx

f(g(x))=e" =f(x)=€" xar g(x)=cox
f(g(x))=3‘/;:>1‘(x)=3X Ko g(X)zn&

f(g(x))=23 ?=f(x)=2" ko g(x)=3x-2
f(g(x)):xz+;x+7:>f(x):% Kot g(X)=Xx"+2x+7
f(g(x))=4xl_7:>f(x)=—1<ou g(x)=4x-7
f(g(x))zexiX:f(x)—l ko g(X)=€" +x
f(g(x)):Zcmv%:f(x) 26uvX kot g(X) %
f(g(x)):(x?‘+x—1)2:f(x):x2 ot g(x)=x"+x-1
f(g(x))=0¢*x =f(x)=x" ka1 g(x) =c0ox
f(g(x))=np’x = (x)=x° kar g(x)=npux
f(g(x))=(" +1) = F(x)=x ke g(x) =" +1

f(9(x))=(x+1)" +(x+1)° =5=F(x) =x"+x* =5 kot g(x)=x+1
f(g(x)):nu3x+4nu2x—2nux—l:>f( )=x"+4x" —2x =1 kar g(X)=npx
f(9(x))=(2x-5)" +3(2x~5)-9=f (x) =x* +3x — 9 wat g(x)=2x -5

f(g(x)):\/_3—5x+\/;—1:>f(x)_x —5x% +x—1 ko g(X ):\/;



